
𝑛𝑅𝐶𝑂3 = 𝑛𝑅(𝑂𝐻)2  =

𝑎

→ ↓

 →

𝑛𝐶𝑂2  =  2𝑎

→

→

𝑛𝐶𝑂2 =
1

2
𝑛𝑅𝑂𝐻

→

𝑛𝐶𝑂2  =  𝑏 (𝑚𝑜𝑙)

→



→ →

→

+ 

+ 

+ 

→

→

- 
𝑛𝐶𝑂2

𝑛𝑅𝑂𝐻

- 
𝑛𝐶𝑂2

𝑛𝑅𝑂𝐻

𝑛𝐶𝑂2

𝑛𝑅𝑂𝐻
 ≤  

1

2



𝑛𝐶𝑂2

𝑛𝑅𝑂𝐻
 ≥  1

1

2
   

𝑛𝐶𝑂2

𝑛𝑅𝑂𝐻
  1

→

→

- 
𝑛𝐶𝑂2

𝑛𝑅(𝑂𝐻)2

- 
𝑛𝐶𝑂2

𝑛𝑅(𝑂𝐻)2

𝑛𝐶𝑂2

𝑛𝑅(𝑂𝐻)2

 ≤  1  

𝑛𝐶𝑂2

𝑛𝑅(𝑂𝐻)2

 ≥  2  

1  
𝑛𝐶𝑂2

𝑛𝑅(𝑂𝐻)2

  2



𝑛𝐶𝑂2

𝑛𝑅𝑂𝐻
=
0,15

0,35
<
1

2
→

→

𝑛𝐶𝑂2 =  8,96 ∶  22,4 =  0,4 (𝑚𝑜𝑙) ;  𝑛𝐵𝑎(𝑂𝐻)2 = 0,1.1 = 0,1 (𝑚𝑜𝑙)

➔ 
𝑛𝐶𝑂2

𝑛𝐵𝑎(𝑂𝐻)2
=
0,4

0,1
= 4 > 2

→

➔ 𝑚𝐵𝑎(𝐻𝐶𝑂3)2 = 0,1.259 = 25,9 𝑔𝑎𝑚



𝑛𝑁𝑎2𝑆𝑂3 =
100.12,6

100.126
= 0,1 𝑚𝑜𝑙

𝑛𝐶𝑎(𝑂𝐻)2 = 0,1.2 = 0,2 𝑚𝑜𝑙

→

➔ 
𝑛𝑆𝑂2

𝑛𝐶𝑎(𝑂𝐻)2
=
0,1

0,2
=
1

2
< 1

→

➔ 𝑚𝐶𝑎𝑆𝑂3 =  0,1.120 = 12 𝑔𝑎𝑚

1  
𝑛𝐶𝑂2

𝑛𝐶𝑎(𝑂𝐻)2
=
0,3

0,2
= 1,5  2  1

→

→

{
𝑥 + 2𝑦 = 0,3
𝑥 + 𝑦 = 0,2

 𝐺𝑖ả𝑖 ℎệ 𝑡𝑎 đượ𝑐: {
𝑥 = 0,1
𝑦 = 0,1

➔ 𝑚𝐶𝑎𝐶𝑂3 = 10 𝑔𝑎𝑚  ;     𝑚𝐶𝑎(𝐻𝐶𝑂3)2 = 16,2 𝑔𝑎𝑚



𝑛𝑆𝑂2 = 
0,672

22,4
= 0,03 𝑚𝑜𝑙

- 

→

→

→

- 

𝑛𝑚𝑢ố𝑖 = 𝑛𝑜𝑥𝑖𝑡  (𝑛𝑅𝐶𝑂3 = 𝑛𝐶𝑂2)

- 

𝑛𝑚𝑢ố𝑖 ≤ 
1

2
 𝑛𝑜𝑥𝑖𝑡(𝑛𝑅(𝐻𝐶𝑂3)2 ≤ 

1

2
𝑛𝐶𝑂2)

- 

1  
𝑛𝑜𝑥𝑖𝑡
𝑛𝑏𝑎𝑧ơ

=
𝑛𝐶𝑂2
𝑛𝑅(𝑂𝐻)2

   2 → 
𝑛𝐶𝑂2
2
   𝑛𝑅(𝑂𝐻)2  𝑛𝐶𝑂2

𝑛𝑅𝐶𝑂3 + 𝑛𝑅(𝐻𝐶𝑂3)2 = 𝑛𝑅(𝑂𝐻)2

 𝑚𝑚𝑢ố𝑖 𝑡𝑟𝑢𝑛𝑔 ℎò𝑎   𝑚𝑚𝑢ố𝑖 𝑡𝑟𝑢𝑛𝑔 ℎò𝑎 + 𝑚𝑚𝑢ố𝑖 𝑎𝑥𝑖𝑡 < 𝑚𝑚𝑢ố𝑖 𝑎𝑥𝑖𝑡



➔ 𝑚𝐵𝑎𝑆𝑂3 = 0,03.217 = 6,51 𝑔𝑎𝑚

- 

➔ 𝑛𝐵𝑎(𝐻𝑆𝑂3)2  ≤  
1

2
𝑛𝑆𝑂2

→

𝑛𝐵𝑎(𝐻𝑆𝑂3)2  ≤  
1

2
𝑛𝑆𝑂2 =

0,03

2
= 0,015 (𝑚𝑜𝑙)

→ 𝑚𝐵𝑎(𝐻𝑆𝑂3)2  ≤  0,015.299 = 4,485 𝑔𝑎𝑚

- 

→

→

1 <  
𝑛𝑆𝑂2

𝑛𝐵𝑎(𝑂𝐻)2
< 2

 1 <  
0,03

𝑛𝐵𝑎(𝑂𝐻)2
< 2   0,015 <  𝑛𝐵𝑎(𝑂𝐻)2 <  0,03

𝑛𝐵𝑎𝑆𝑂3 + 𝑛𝐵𝑎(𝐻𝑆𝑂3)2 = 𝑛𝐵𝑎(𝑂𝐻)2

- 

- 

→ 0,015.217 = 3,255 (𝑔𝑎𝑚)  <  𝑚𝐵𝑎𝑆𝑂3 +𝑚𝐵𝑎(𝐻𝑆𝑂3)2 < 0,03.299 = 8,97 (𝑔𝑎𝑚)

→

→

→ 𝑛𝑚𝑢ố𝑖  ≤  𝑛𝑏𝑎𝑧ơ           (𝑛𝑅𝐶𝑂3  ≤  𝑛𝐵𝑎(𝑂𝐻)2)

→ 𝑛𝑚𝑢ố𝑖  =  𝑛𝑏𝑎𝑧ơ           (𝑛𝑅𝐶𝑂3  = 𝑛𝐵𝑎(𝑂𝐻)2)



𝑇𝑎 𝑐ó: 𝑛𝐶𝑎(𝑂𝐻)2 = 0,1.0,5 = 0,05 𝑚𝑜𝑙

→ 𝑛𝐶𝑎𝑆𝑂3 ≤ 𝑛𝐶𝑎(𝑂𝐻)2

→

➔ 𝑛𝐶𝑎𝑆𝑂3  ≤  𝑛𝐶𝑎(𝑂𝐻)2   𝑚𝐶𝑎𝑆𝑂3 ≤  0,05.120 = 6𝑔𝑎𝑚 

→ 𝑛𝐶𝑎(𝐻𝑆𝑂3)2 = 𝑛𝐶𝑎(𝑂𝐻)2

→

➔ 𝑚𝐶𝑎(𝐻𝑆𝑂3)2 = 0,05.202 = 10,1 𝑔𝑎𝑚

→

→

1 <
𝑛𝑆𝑂2

𝑛𝐶𝑎(𝑂𝐻)2
< 2

𝑛𝐶𝑎𝑆𝑂3 + 𝑛𝐶𝑎(𝐻𝑆𝑂3)2 = 𝑛𝐶𝑎(𝑂𝐻)2

➔ 𝑚𝐶𝑎𝑆𝑂3 < 𝑚𝐶𝑎𝑆𝑂3 +𝑚𝐶𝑎(𝐻𝑆𝑂3)2 < 𝑚𝐶𝑎(𝐻𝑆𝑂3)2



 0,05.120 = 6 (𝑔𝑎𝑚)  < 𝑚𝐶𝑎𝑆𝑂3 +𝑚𝐶𝑎(𝐻𝑆𝑂3)2 < 0,05.202 = 10,1

𝑛𝑅𝐶𝑂3 < 𝑛𝑅(𝑂𝐻)2)





𝑛𝐵𝑎(𝑂𝐻)2  = 0,15 𝑚𝑜𝑙;      𝑛𝐵𝑎𝑆𝑂3 =  0,1 𝑚𝑜𝑙. 

 𝑛𝐵𝑎(𝑂𝐻)2 →

→

→

➔ 𝑉𝑆𝑂2 =  0,1 . 22,4 =  2,24 𝑙í𝑡

→

𝑛𝐵𝑎𝑆𝑂3 = 0,15 𝑚𝑜𝑙 𝑛𝐵𝑎𝑆𝑂3 =  0,1 𝑚𝑜𝑙

→

➔ 𝑉𝑆𝑂2 = (0,15 + 0,05). 22,4 =  4,48 𝑙í𝑡

𝑛𝐶𝑎𝐶𝑂3 =  0,01𝑚𝑜𝑙;       𝑛𝐶𝑎(𝑂𝐻)2 =  0,02 𝑚𝑜𝑙 

𝑛𝐶𝑎𝐶𝑂3 < 𝑛𝐶𝑎(𝑂𝐻)2 →

𝑛𝐶𝑎(𝑂𝐻)2  𝑑ư

→



⇒ %𝑉𝐶𝑂2 =
0,01 . 22, 4

10
. 100% = 2,24%; %𝑉𝑂2 =  97,76% 

→

𝑛𝐶𝑎𝐶𝑂3 =  0,02 𝑚𝑜𝑙 𝑛𝐶𝑎𝐶𝑂3 =  0,01 𝑚𝑜𝑙

→ 𝑛𝐶𝑎𝐶𝑂3

→

 %𝑉𝐶𝑂2 =
0,03 𝑥 22,4

10
. 100% = 6,72%;  %𝑉𝑂2  =  93,28%

𝑛𝐶𝑎𝐶𝑂3 =  0,3 𝑚𝑜𝑙

→

→ 𝑛𝐶𝑂2 =  0,3 𝑚𝑜𝑙

𝑛𝐵𝑎(𝐻𝐶𝑂3)2 = 0,05 𝑚𝑜𝑙

𝑛𝐵𝑎(𝐻𝐶𝑂3)2 < 𝑛𝐶𝑂2  →

→

⇒

→

→



⇒

 𝑛𝐵𝑎𝐶𝑂3 = 
42,5 

197
= 0,22 𝑚𝑜𝑙; 𝑛𝐵𝑎(𝑂𝐻)2 =  0,2 𝑚𝑜𝑙 

→

𝑛𝐵𝑎(𝑂𝐻)2 = 0,22 >  0,2 → 𝑉ô 𝑙ý.

 𝑛𝐵𝑎(𝐻𝐶𝑂3)2 = 
42,5

259
= 0,16𝑚𝑜𝑙 

→

𝑛𝐵𝑎(𝑂𝐻)2 = 0,16 < 0,2 =>  𝑛𝐵𝑎(𝑂𝐻)2  𝑑ư (𝑣ô 𝑙ý).

→

→

{
𝑥 + 𝑦 = 0,2

197𝑥 + 259𝑦 = 42,5
{
𝑥 = 0,15
𝑦 = 0,05

➔ 𝑛𝐶𝑂2 = 𝑥 + 2𝑦 = 0,25 𝑚𝑜𝑙 %𝑉𝐶𝑂2 = 56%            %𝑉𝐶𝑂 = 44%



→ 

→

→

→

- (𝑛𝑅𝐶𝑂3  = 𝑛𝑅(𝑂𝐻)2)

- (𝑛𝑅𝐶𝑂3 < 𝑛𝑅(𝑂𝐻)2)



 𝑛𝐾𝑂𝐻 = 0,2 (𝑚𝑜𝑙); 𝑛𝐵𝑎(𝑂𝐻)2 = 0,3 (𝑚𝑜𝑙); 𝑛𝐵𝑎𝐶𝑂3 = 0,24 (𝑚𝑜𝑙)

𝑛𝐵𝑎(𝑂𝐻)2 > 𝑛𝐵𝑎𝐶𝑂3 →

→

→ →

→

→

→

→

→ 𝑛𝐶𝑂2  

→

𝑛𝐾𝑂𝐻 = 0,2.1 = 0,2(𝑚𝑜𝑙); 𝑛𝐵𝑎(𝑂𝐻)2 = 0,2.1,5 = 0,3(𝑚𝑜𝑙);

𝑛𝐵𝑎𝐶𝑂3 =
47,28

197
= 0,24 (𝑚𝑜𝑙)

𝑛𝐵𝑎𝐶𝑂3 < 𝑛𝐵𝑎(𝑂𝐻)2

→



→

→

→

→

→

𝑛𝐾𝑂𝐻 = 2.0,1 =  0,2 𝑚𝑜𝑙; 𝑛𝐶𝑎(𝑂𝐻)2 = 2 . 0,05 = 0,1 𝑚𝑜𝑙

𝑛𝐶𝑎𝐶𝑂3 =
8

100
= 0,08 𝑚𝑜𝑙

𝑛𝐶𝑎𝐶𝑂3 < 𝑛𝐶𝑎(𝑂𝐻)2 → →

→

       t        
→     

→

→

→

→



𝑛𝐶𝑎(𝑂𝐻)2 𝑑ư →

→ 𝑛𝐶𝑂2 = 𝑛𝐶𝑎𝐶𝑂3 =  0,08 𝑚𝑜𝑙 

→

→ 𝑛𝐶𝑂2 = 𝑛𝐶𝑎(𝑂𝐻)2 + 𝑛𝐾𝑂𝐻 + 𝑛𝐶𝑎𝐶𝑂3 𝑡𝑎𝑛

→

→ 

→



→





➔

- 

→

𝑉

22,4

𝑉

22,4

𝑉

22,4

- 

→

→

→

(
1,25𝑉

22,4
 −  0,12)        (

1,25𝑉

22,4
 −  0,12)                    (

1,25𝑉

22,4
 −  0,12)  

➔ 𝑛𝐵𝑎𝑆𝑂3 = 0,12 − (
1,25𝑉

22,4
 −  0,12) = 0,24 − 

1,25𝑉

22,4
 (𝑚𝑜𝑙)

𝑥 = 217. (0,24 − 
1,25𝑉

22,4
)

→    

→

(
𝑉

22,4
 −  0,12)        (

𝑉

22,4
 −  0,12)                    (

𝑉

22,4
 −  0,12)  



➔ 𝑛𝐵𝑎𝑆𝑂3 = 0,12 − (
𝑉

22,4
 −  0,12) = 0,24 − 

𝑉

22,4
 (𝑚𝑜𝑙)

2𝑥 =  217. (0,24 − 
𝑉

22,4
)

- 

→    

→

(
1,25𝑉

22,4
 −  0,12)        (

1,25𝑉

22,4
 −  0,12)                    (

1,25𝑉

22,4
 −  0,12)  

➔ 𝑛𝐵𝑎𝑆𝑂3 = 0,12 − (
1,25𝑉

22,4
 −  0,12) = 0,24 − 

1,25𝑉

22,4
 (𝑚𝑜𝑙)

𝑥 = 217. (0,24 − 
1,25𝑉

22,4
)



𝑚𝐶𝑎(𝐻𝐶𝑂3)2 =  0,025. 162 =  4,05 (𝑔)                   𝑚𝐶𝑎𝐶𝑂3 =  0,025. 100 =  2,5 (𝑔)


